



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^0 + \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} = \frac{11}{40}$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{6}\right) = \frac{77}{750}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} = 0$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{1}{25}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{11}{36}\right)$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{3}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) = \frac{211}{1080}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{61}{80}$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{206}{375}\right)$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{3}{8}$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{4} = \left(-\frac{2}{9}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{4} = \left(-\frac{1}{8}\right)$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{3}{4}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{59}{320}\right)$$

$$\left(\frac{1}{5}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{379}{500}\right)$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(\frac{1}{3}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} = \frac{123}{250}$$